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 ��
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��د�� د )AB.  

A ا�
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x x y y
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− −=
− −
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)ا�#
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 ��
��ر��� ������)"!د 
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��ر��� �����
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��د�� �����
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 ���&% ا�#

( )1,2A −,( )4,3B  

1( %����ر��� �����
�� ا�0ي ��ازي 
��ر ا- �,�+ و�"!د 
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	 ا�#( )1,2A −  

��ر��� �����
�� ا�0ي ��ازي 
��ر )2�
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	اب y= �#�� :  2y =  

Ax  ا����د�� ھ� :)2 x= �#�� :  1x = −  
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) ا������ : )1,3A   ,( )2,5B ,( )3,6C  

1( ��
)"!د ا����د�� ا��6�7%ة ����� )D
  

)ا����
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)و )2,1E  
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( ا������: =
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��  ا��6�7%ة  "!د 
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)�#��� إ�' C و D ھ+ ا�# )D؟    


��  أر�2)3����( )D و( )AB  
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)�#��� إ�'E �ھ+ ا�# )D؟    
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   ا�
	اب
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x x y y

x x y y
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3 1 4 2

x y− −=
− −

  �#��1 2
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)�#��� إ�'E �ا�# )AB  5( ��� �
�#��� E �ا�#
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)�#��� إ�' C و D ھ+ ا�# )D؟    


��  أر�2)3����( )D و( )AB  
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